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The LCM of two numbers x and y is 204 times their HCF. If their HCF is 12 and the difference
between the numbers is 60, then x+y=?
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Amit lent Rs. 25000 to two persons at simple interest the rate of interest being 12% p.a and 9% p.a
respectively. The interest received from first person in 4 years is equal to interest received from second
person jn 3 years. What was the amount Ient to first person?
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Two inlet pipes can fill a cistern in 5 and 6 hours respectively and an outlet pipe can empty 24 gallons of

water per hour. All the three pipes working together can fill the empty cistern in 10 hours. What is the
capaC|ty (in galloa;_)Tof the tank?
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An elevator can carry maximum of 16 passengers with an average weight of 80 kg. However, four boys mbre
than the maximum carrying capacity of the elevator entered it making the average weight as 86 kg and
overloadlng the elevator. What is the average weight of those four boys?
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if D and E are points on the sides AB and AC respectively of a triangle ABC such that DE| |BC. If AD = x cm, DB

I%lBC é_flﬁ'AD=

= (x-3) cm, AE = (x+3) cm and EC = (x - 2) cm, then what is the vaIue(lnc of x?
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If the selling price of 9 article is equal to the cost price of 12 article. Discount on 10 article is equal
to the proflt of 5 artlcle Find discount % ?
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The ratio of ages of the father and mother was 11:10 when their son was born. The ratio of ages of the father
and mother will be 19:18 when the son will

be twi ;ﬁ_‘,l_wls Jpresent age. What is the ratio of present ages of father and mother?
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A container contains some milk. If 16 liter of milk is taken out and replaced with water. If this process is
repeated three times more then the ratio of milk and water become 16:65. then find the initial quantity of

milk?
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A can do a piece of work in 5 days less than the time taken by B to do it. If both of them together
take 11 1/9 days then the time taken by 'B_alone to do the same work (in days) |s?
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If the six digit number 15x1y2 is divisible by 44, then (x + y)_is equal to:
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Two students appeared for an examination. One of them secured 9 marks more than the other and
if_his marks were 56% of the sum of their marks. The marks obtained by them are?
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Anu sold an article for 480 at some profit. Had she sold it for ¥400. then there would have been a
loss equal to one-third of the |n|t|al profit. What was the cost price of the article?
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A loan has to be returned in two equal yearly instalments each of ¥44,100. If the rate of interest is
5% p.a., compounded annually, then the total interest paid is:
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Two pipes A and B can fill a cistern in 37 1/2 minutes and 45 minutes respectively. Both pipes are opened,
the cistern will be filled just in half an hour, if the pipe B is turned off after?
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A boat goes 30 km upstream and 44 km downstream in 10 hour. In 13 hour, it can go 40 km upstream and 55
km downstream. The speed of the boat jn still water js.
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A is more efficient than B and they together can complete a work in 24 days. Had A done 50% of
the work and then B, the remaining work, then the work would have been done in 50 days. B
anne will complete 4 /e'cﬁf%he same work in?
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